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Attempt five questions in all, selecting
at least two questions from each Section.

All questions carry equal marks.
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1. (a) Explain Keynes’ Psychological law  of

consumption.

(b) How will the behaviour of APC and MPC differ in

a linear and non-lincar consumption function ?
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2.

(¢) Given the consumption function as C = 80 + 0.84
Find the saving function.
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“An increase in investment leads to an increase in
income greater than the initial increase in investment.”
In this context explain the working of investment
multiplier. Also discuss the leakages of multiplier.
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With the help of suitable diagrams bring out the
distinction between ‘Demand Pull Inflation’ and ‘Cost
Push Inflation’. Examine the effects of inflation on

different sections of the society.

S Yl ) wer @ i e B e T
w1 whifd’ ﬁmmW|W%Wwﬁm
T o wviTan 1 e Hifse) |

4409-A 3 (P.T.O.



4, (a) Critically examine Fishers’ approach to the
relationship between quantity of money and price
level.

(b) If the money supply in Fishers’ equation is
doubled, other variables remaining constant, what

will be its effect on the value of money? Explain.
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5. Explain the following :
(i) Functions of Money

(i) Demand for money for speculative motive.
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6. What are the main functions of a commercial bank ?
Discuss the role played by these banks in the economic

development of a developing country like India.
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Explain the characteristics of a good tax system. How
far does the Indian tax system fulfill these
characteristics.
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Define incidence of a tax. Discuss the incidence of

(i) aunittax and

(i) a lump sum tax

under monopoly. Use suitable diagrams.
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Explain the major Principles of Public expenditure.

Discuss the effects of Public expenditure on production

and distribution in an economy.
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10. Write short notes on :
(1) Objectives of Fiscal Policy
(i1) Recommendations of 11th Finance Commission
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